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debasish chakraborty 2 hours ago

Homework :

Words : Alphabetically - Vowels Reverse
Numbers - Highest to Lowest Difference Square
Thank you mam. Awesome session.

gb &R REPLY

Mohit.. 7 hours ago

Thank-you Madam for today’'s Wonderful Class Sesai&n..i 2 =
And

My logic for today's Homework is like-

In words- change only vowels with their respective Opposites...

Read more

oy &R REPLY

Nadeem 1 hour ago

¢ Home work

. Number ka Logic - number ka difference lekar , fir Square kiya aur Decreasing Order me

.Words ka Logic - Words me jitne bhi vowel gain sabka opposite likh diya hai.. Lekin sequence nhi pata Mam
gp 1hank you Mam (&2 fJ &

dy GP  REPLY
Amisha Gupta 1 hourago
E

s G REPLY
Amisha Gupta 1 hour ago
B

dy GP  REPLY
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ﬂyput- minister 93 external 57 commissioner 74 government 68
Step-I: clmmrssrinvr minister external 57 74 government 68 36
Step-Il: clmmrssrinvr vxtvrnzl minister 57 government 68 36 9
Step-Illl: clmmrssrinvr vxtvrnzl glvvrnmvnt minister 57 36 9 4
Step-1V: cimmrssrinvr vxtvrnzl glvwrnmvnt mrnrstvr 36 9 4 4

Input- republic 16 parliament 48 privilege 29 project 19
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Input- republic 16 parliament 48 privilege 29 project 19 How many steps are required to rearrang®

the given input?
Step-I: pzrirzmvnt republic 16 privilege 29 project 1916 (a)ui
. . (b)VII
Step-Il: pzrlrzmvnt prrvrivgv republic 16 project 1916 49 (c)v
Step-Ill: pzrrzmvnt prrvrivgv prijvet republic 16 16 49 64 (c)iv

(e)None of these

Step-IV: pzrirzmvnt prrvrivgv prijvet rvpfbirc 16 49 64 25

What will be the second step of the given input?

(a)step II- pzrirzmvnt prrvrivgv republic 16 project 49 19 16
(b)Step II- pzrirzmvnt prrvrivgv republic project 16 19 16 49
(c)step lI- pzrirzmvnt prrvrivgv republic 16 project 19 16 49

(d)Step lI- pzrirzmvnt prrvrivgv 16 republic project 19 16 49
(e)None of these
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Input- republic 16 parliament 48 privilege 29 project 19 Which of the following word/number Wil

be at second position from right end in il
Step-I: pzrirzmvnt republic 16 privilege 29 project 1916 step?
. . (a) 64
Step-Il: pzrlrzmvnt prrvrivgv republic 16 project 1916 49 (b) 25
Step-Ill: pzrrzmvnt prrvrivgv prijvet republic 16 16 49 64 gg)) f69
Step-IV: pzrirzmvnt prrvrivgv prijvet rvpfbirc 16 49 64 25 (e)None of these

Which step gives following output?
“pzrirzmvnt prrvrivgv republic 16
project1916 49"

(a) Step-|

(b) Step-li

(c) Step-lil

(d) Step-1Vv

(e)None of these
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: Z@VY, Y%X, X*W, WSV
Conclusions: 1. Y%V Il. Z%V

(a) Only conclusion I follows
(b) Only conclusion Il follows
(c) Either conclusion | or Il fo"~=~
(d) Neither conclusion I nor ||
(e) Both conclusion 1 and Il f(
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: A%D, B@E, DH#C,E*C
Conclusions: . C$A . E@A

(a) only conclusion I follows
(b) Only conclusion i follows
(c) Either conclusion | or Il followe
(d) Neither conclusion I nor Ii foll|
(e) Both conclusion 1 and Il follov |
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: G*K, KM, MEN, N@O
Conclusions: |. K%N Il. M@O

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Either conclusion | or Il follpwe
(d) Neither conclusion I nor Il
(e) Both conclusion | and Il fol
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P@Q - P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - Pis not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: S$T, W$U, T*W, U@V
Conclusions: |. SSU Il. V@T

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Either conclusion I or Il follows
(d) Neither conclusion | nor Il follow
(e) Both conclusion | and Il follows
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P@Q — P is neither greater than nor equal to Q
P%Q — P is neither smaller than nor equal to Q
P#Q - P is not greater than Q

P$Q - Pis not smaller than Q

P*Q- P is neither smaller than nor greater than Q

Statements: A%B, C$E, D@B, D*C
Conclusions: |. A%C Il. E@B

(a) Only conclusion | follows

(b) Only conclusion Il follows

(c) Either conclusion I or Il follows
(d) Neither conclusion | nor Il follow
(e) Both conclusion | and Il follows


http://www.mahendras.org/

& _SBI CLERK 2022 / /mmat 11:30 av/ (@)

Q29 If all the alphabets are rearranged within itself as they appear in the English dlctm
in the word “TELEPHONIC” then which of the following will be third to the left of eighth

from the left end?

Ife AT ASGHIA A "TELEPHONIC" eTeg & THT 318 39t 3T A <HaieA>d g
Jad &, af efaf@ad & @ ia 910 R @ 39 F v F T e

(a) H (b) I (c) L (d) N (e) None of these
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Q30. Find the odd one out?
(a)ACE

(b) FHJ

(c) KMO

(d) PQT

(e) UWY
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Seven persons M, N, O, P, Q, R and S like different movies
Dangal, Dabangg, Veer-Zara, Gangajal, Airlift, Ram-Leela and
Barfi. All of them like different channels viz. Colors, Zee, Sony,
Star plus, HBO, MTV and UTV(but not necessarily in the same
order). P likes Veer-Zara. O likes Sony Channel. The one who
likes Ram-Leela likes HBO. Q likes Gangajal movie but does not
likes Colors or Star plus. The one who likes Veer-Zara likes
channel Zee. S likes Barfi but does not like Colors channel. R
likes UTV but does not like Dangal. M likes movie Dabangg.

HTe sqfFd M, N, O, P, Q, R 3 S 3TeTer-31erer fibedt 98e F¥d 8 34T |
&3Tel, S&T, a‘kam TSI, TIRTAFE, TH-olTeT 3T T6f| 3T Tl Fr
mm%}aﬂm%ﬁm Ferd, oY, Wi, TER oow, veia,
mﬁmm(mmaﬁ%mw#w P &I dX-STRT
qwg ¥ 0 F A A7 wHE ¥ 97 cafRa o v-ofien wg § 39
T3 THG 81 Q Y AT e g 8 A fdhel Ford a1 TR T d
qHE 8T & 98 afad T IR-3TRT Ui §, AsTer off gHE FaAT &1 S FY
SO 9HG § AfheT Herd AoTel THG 5181 5| R ) AT THE g AfdheT
&9Tel 9UC AT §1 M T Rhea ga9r yug £

O
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P Wovie [ Channei T

- ;‘““E Q31. Who among the following likes movie Ram-
abangg olors

Leela? (a) M (b) N (c) R (d) O (e) None of these

Vet

HBO
Zee
Star plus Star plus? (a) The one who likes Dabangg (b) N

(c) The one who likes Airlift (d) The one who
likes Barfi (e) None of these

Q32. Who among the following likes channel

Q33. Who among the following likes MTV? (a) P
(b) S (c) The one who likes Gangajal (d) The one
who likes Dabangg (e) None of these
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Channel

Movie

Star plus

Q34. Which of the following statement is trﬂ"
(a)O likes movie Ram-Leela

(b) S likes channel MTV

(c) The one who likes Dabangg likes Colors
channel

(d) The one who likes Airlift likes channel Star
plus

(e) None is true

Q35. Which among the following combination is
correct?

(a)M - HBO

(b) R — Ram-Leela

(c) Gangajal - Colors

(d) All are true

(e) None is true
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In a certain code language,

‘Human photo Report Delay’ is written as ‘pa ch ga mo’,
‘Delay Village Result Time' is written as ‘ta ha cu pad’,
'Human photo Funds Delay’ is written as ‘ga ch sh pa’ and

‘Result Time Absence’ is written as ‘ha cu va'.

Ql. What may be the code for ‘photo’? Q2. Which of the following can be the code for

(a) sh ‘Absence Human Report'?
(b) ch (a) vamoch

(¢) ha (b) chgamo

(d) pa (c) mogava

(e) va (d) Either (a) or (¢)

(e) None of these
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In a certain code language,

‘Human photo Report Delay’ is written as ‘pa ch ga mo’,

‘Delay Village Result Time' is written as ‘ta ha cu pad’,

'Human photo Funds Delay’ is written as ‘ga ch sh pa’ and

‘Result Time Absence’ is written as ‘ha cu va'.

Q5. ‘Time Human photo Result’ can be
coded as

(a) chgahacu

(b) hacugash

(c) chhagamo

(d) Can’t be determined

(e) None of these

Q3. 'ha’ is the code for? b
(a) Absence

(b) village

(c) Either ‘Result’ or ‘Time’
C)DLELY

(e) None of these

Q4. Which of the following is the code
for ‘Report’?

(a) ch

(b) pa

(c) cu

(d) ga

(e) None of these
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Seven people P, Q,R, S, T, Uand V are living at
seven different floors of the building in such a
way that ground floor is no.1and top floor is
no. 7. Each of them likes different colours i.e.
Red, Blue, green, Yellow, Pink, Orange and
White but not necessary in same order.

U lives on an even number floor. One floor is
between U and the one who likes Red colour.
The one who likes White colour lives one of
the floors above P. The one who likes blue
colour live on the 2nd floor. Q lives above the
one who likes red colour. R lives just below Q.
T lives above Q. The one who likes white
colour live on the 5th floor. R does not like
white colour. Not more than four persons live
between T and V, who lives below S. S likes
green colour. The one who likes yellow colour
live just above the one who likes Pink colour.

AT ARTP, Q,R,S, T, UIRVSARTG S Al >
mmnﬁmws@rm#wr&%%m
TeT &1 1 30K oS Tor 7. 7. 379 & T AF FY 3TeAT-
37197 3T 9 < & 14T ofted, e, g1, S,
T, aﬂ?ﬁsﬁtmaﬁmmwaﬁaﬁ
e 3 8Tl U U T §&AT aTell A Torel 9 @1 8
U 31 9Tl 6T 9HE HI aTel A fd & AL Th
AT ¢ Tg AT S A BTIHC T TGP &
9 frd v AfSer W @ar g1 e @radae
FA aTelT A fFd gal AT W@ el Q39
AT F FWBATE A TT ETIES IR, QF
MF AT @ATRIT, Qa:mw%lmm
qHE Fa arelT 4 5dt AT W Igarg| R H
e Tradg A8 81 T ARV, S s F o @ar g,
&N IR FIF AT I I SHEU T
76 §1 98 safFd ford fel 37 vHg § 9% e
3T TS H¥et T & S FUT @ar el
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Seven peopleP,Q,R, S, T,Uand V are Iivin‘:'
seven different floors of the building in such a
way that ground floor is no. 1 and top floor is
no. 7. Each of them likes different colours i.e.
Red, Blue, green, Yellow, Pink, Orange and
White but not necessary in same order.

U lives on an even number floor. One floor is
between U and the one who likes Red colour.
The one who likes White colour lives one of
the floors above P. The one who likes blue
colour live on the 2nd floor. Q lives above the
one who likes red colour. R lives just below Q.
T lives above Q. The one who likes white
colour live on the 5th floor. R does not like
white colour. Not more than four persons live
between T and V, who lives below S. S likes
green colour. The one who likes yellow colour
live just above the one who likes Pink colour.
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mm Who among the following person lives on the 3rd floor?
(o R

6  [U  |Pink | [EEEEOR

5 o [white | NG

4  |R  |Red S NOSETITES:

3 |S  |[Green —

- How many floors between the one who likes Pink colour
and the one who likes Blue colour?
1 |p  |Orange (a) None

(b) One
(c) Three
(d) Four
(e) Two

Who among the following person lives at the topmost
floor?

(a) U

(b) Q

(c) T

(d) P

(e) None of these
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Floor | Person | Colour _
6  |u  |Pink
5  |Q  [White
4  [R  |Red

3 |s = |Green
1 [P |Orange

CLERK 2022 / /mmat 11:30 AM/ 0

Who among the following person likes
Red colour?

(a) U

(b) S

(c)T

(d) R

(e) None of these

Four of the following five are alike in

certain way based from a group, find

the one that does not belong to that
roup?

?a) P

(b) S

(c) R

(d) Q

(e)T
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Point J is 2Im north of R. Point R is 5m east of Q. Point Qs 15m south of V. Point V‘ism
west of T. Point T is 18m east of K. Point K is 10m south of M. J,R¥F 21 3a37 & gl

R, Q¥ 5#t q& & g1 &g Q, V& 157
qd & ¥ g K, M& 107 gf@or & §

fgror & g1 g v, T+ 104 a5l g T,KF 18

Q6. What is the shortest distance between | and K?
(a) 5+v41m

(b) 14m

(c) 15m

(d) 11m

(e} None of these

Q7. Point V is in which direction with respect to M?
(a) South
(b) North-East

(c) West
(d) South-West
(e} None of these

Q8. In which direction point Q with respect to T?
(a) South-east

(b) South-west

(c]) North

(d) North-west

(e} None of these
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(a) If only conclusion I follows. Q9. Statements: D>H=B>N>T=Y<M=>EzR
(b) If only conclusion Il follows. Conclusion

(c) If either conclusion I or I follows . M=N I1: H>Y

(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and I follow.

Q10. Statements: T>R<WzE>C=VzD=F
Conclusion
[: R=C II: W=D
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(a) If only conclusion Il follows.

(b) If only conclusion I follows.

(c) If both conclusions 1 and II follow.
(d) If neither conclusion I nor Il follows.
(e) If either conclusion 1 or Il follows.

QIl. Statements:

Some audio are video

All video are movie

No movie is bad
Conclusion:

I: Some audio are not bad
Il: No video is bad

Ql2. Statements:

Only a few Mango are apple
Some apple are Grapes

No grapes is Fruit
Conclusion:

I: Some mango are not fruit
II: All apple can never be fruit
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(a) If only conclusion Il follows.

(b) If only conclusion I follows.

(c) If both conclusions 1 and II follow.
(d) If neither conclusion I nor Il follows.
(e) If either conclusion 1 or Il follows.

CLERK 2022 / /&8 at 11:30 AM/ ﬂ

Q13. Statements:

Only Red is blue

Only a few red is green

No green is Pink
Conclusions:

l. Some blue can be green
IIl. All pink can never be red

Ql4. Statements:

All Potato is Onion

Some Onion is costly

All costly is tomato
Conclusions:

l. Some tomato are potato
ll. No potato are tomato
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(a) If only conclusion Il follows. Q15. Statements:
(b) If only conclusion I follows. All knife is wood
(c) If both conclusions | and Il follow. All wood IS grass
(d) If neither conclusion I nor Il follows. All grass Is nature
(e) If either conclusion I or Il follows. Conclusions:

l: Some nature are wood
II: All grass is knif
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Ad ATFT HATIP, Q, R, S, T, U IRV AHAIR A
ﬁmwwﬁm%mmﬂa’mm
ST T8 & oifehet ST o161 T 53t T A 11 Tsih
SqTFd 3Tel9T-3TeA9T LT THE hld & UTd oTe,
e, T, &1, e, TR 3R e T & gATT
HH A AT R FAR Y AT § AR 38 Hrelr T
qae ¥ R 3 AR 1 THE FI aTe SR
AT Y cATFT STd 21 P 3R T I9A Whe Wr9dg
g, & ALY i SIfFa AT &1 P Y AR W1 9HE
T ¥ The T IHE FeT aTeT s iad FHIAT LT
UG FIA dTel STFd A Igel ATAT g1 T HIR HI
TEI SATAT§ 1 S, FATel TN GHEG HIA dTel A TFd &
SF ag ATaTe | VIR U F AT Y mfFaena @
o8 AT T 9HE ¢ P Y &0 T IHE el gl

There are seven personsi.e.P,Q,R,S, T, U
and V are going to the mall on different
days of the same week from Monday to
Sunday but not necessarily in the same
order. All the persons like different colours
i.e. Red, Blue, Black, Green, Yellow, Orange
and White again not in the same order.R
goes on Thursday and likes black colour.
Two persons go between R and the one who
likes Orange colour. Three persons go
between P and T who likes white colour. P
does not like orange colour. The person who
likes white colour goes before the one who
likes black colour. T does hot go on Monday.
S goes immediately after the one who likes
red colour. Two persons goes between V
and U who likes yellow colour. P does nhot
like green colour.
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There are seven personsi.e.P,Q,R,S, T, U
and V are going to the mall on different
days of the same week from Monday to
Sunday but not necessarily in the same
order. All the persons like different colours
i.e. Red, Blue, Black, Green, Yellow, Orange
and White again not in the same order.R
goes on Thursday and likes black colour.
Two persons go between R and the one who
likes Orange colour. Three persons go
between P and T who likes white colour. P
does not like orange colour. The person who
likes white colour goes before the one who
likes black colour. T does hot go on Monday.
S goes immediately after the one who likes
red colour. Two persons goes between V
and U who likes yellow colour. P does nhot
like green colour.
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Who among the following person likes Re

colour?
Monday [Q | Orange _ (a) @
(b) R
()T
Thursday [R [ Black (a) P
(e) None of these
Which of the following colour likes by S?
|Sunday [P [Blue | (a) orange

(b) Green

(c) Blue

(d) White

(e) None of these

Which of the following combination is true?
(a) Monday- P-Yellow

(b) Tuesday-U-Orange

(c) Friday-V-Green

(d) Wednesday-Q-Red

(e) None is true
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Four of the following five are alike in certain
Monday [Q | Orange way based from a group, find the one that does
not belong to that group?

(a) U-Black

AL Nl (b) R-Green

(c) Q-Yellow

(d) S-Black

ECCAN N T (o) P-Red

Who among the following person goes on
Saturday?

(a) P

(b) Q

(c)R

(d)s

(e)T
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[Letter/Digit [1 [A [3[F[6 [7 [D ) [s [8]c [4 [0 [5_

[Code ¥ |pafBjor[&[* [E|!][@ [# [$ [%]

Conditions:

(i) If first letter is vowel and last letter is consonant then both are coded with the
code of the consonant.

(ii) If both the first and the last letter of the group are vowels, their codes are to
be interchanged.

(iii) If both first digit and the last digit of the group is an even number, both are
to be coded as the code for the first number.

(iv) If first digit of the group is an odd number then it will be coded as code of
last letter. ADJ580

(a) $&*Q¥p

(b) ps*Q¥@

(c) $&*Q¥@

(d) $&*%!u

(e) None of these
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[Letter/Digit [1 [A [3[F[6 [7 [D ) [s [8]c [4 [0 [5_

[Code ¥ |pafBjor[&[* [E|!][@ [# [$ [%]

Conditions:

(i) If first letter is vowel and last letter is consonant then both are coded with the
code of the consonant.

(ii) If both the first and the last letter of the group are vowels, their codes are to
be interchanged.

(iii) If both first digit and the last digit of the group is an even number, both are
to be coded as the code for the first number.

(iv) If first digit of the group is an odd number then it will be coded as code of
last letter. 18AOJ5

(a) Qlu$*%
(b) Qlu$*Q
(c) %!u$*%
(d) %!lu$*Q
(e) None of these
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[Letter/Digit [1 [A [3[F[6 [7 [D ) [s [8]c [4 [0 [5_

[Code ¥ |pafBjor[&[* [E|!][@ [# [$ [%]

Conditions:

(i) If first letter is vowel and last letter is consonant then both are coded with the
code of the consonant.

(ii) If both the first and the last letter of the group are vowels, their codes are to
be interchanged.

(iii) If both first digit and the last digit of the group is an even number, both are
to be coded as the code for the first number.

(iv) If first digit of the group is an odd number then it will be coded as code of
last letter. S57A1D

(a) E%Ap¥&
(b) £%Ap¥E
(c) &%Ap¥E
(d) &%Ap¥&
(e) None of these
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[Letter/Digit [1 [A [3[F[6 [7 [D ) [s [8]c [4 [0 [5_

[Code ¥ |pafBjor[&[* [E|!][@ [# [$ [%]

Conditions:

(i) If first letter is vowel and last letter is consonant then both are coded with the
code of the consonant.

(ii) If both the first and the last letter of the group are vowels, their codes are to
be interchanged.

(iii) If both first digit and the last digit of the group is an even number, both are
to be coded as the code for the first number.

(iv) If first digit of the group is an odd number then it will be coded as code of
last letter. 4CA17J

(a) #@p¥A*

(b) *@p¥A*

(c) *@p¥An

(d) A@p¥AA

(e) None of these
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[Letter/Digit [1 [A [3[F[6 [7 [D ) [s [8]c [4 [0 [5_

[Code ¥ |pafBjor[&[* [E|!][@ [# [$ [%]

Conditions:

(i) If first letter is vowel and last letter is consonant then both are coded with the
code of the consonant.

(ii) If both the first and the last letter of the group are vowels, their codes are to
be interchanged.

(iii) If both first digit and the last digit of the group is an even number, both are
to be coded as the code for the first number.

(iv) If first digit of the group is an odd number then it will be coded as code of
last letter. O54FJA

(a) ¥%#*RS$
(b) ¥%@B*$
(c) $%#p*¥
(d) p%#p*s$
(e) None of these
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